Math 151 - Test 2

Feb 11 2016

Question 1:

4(x* — 1)® +8x(x* — 1)* /%@m%ﬂ%IJ-EZX(K%ﬂl

(a) Simplify: =

16(x2 — 1)3 e

} ¥ — 2 x| \

4.{ )

(

(b) Simplify to a single real number:

c) Rationalize the denominator.
(c) Rationalize the denominator s otb —|

Va+b+1 ot —\

_ a\(o\-l-éi()_

3 a+tbh — |

3]

[4]

[3]
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Question 2:

(a) Solve for x: '
4(2x+1) =6 —(2x — 4)

¥x+q4 = 6—axtY

\ox = G .
_ b
X = =5

[3]
(b) Solve for x: 1 -
(ax+5) =T
g (2x+s) = IS(x=2)
| 8 x4 4S = (Sx—30
Iy = —F3
==y
[3]

(c) $750 is invested for 36 months at a certain rate of simple interest. At the end of the 36 months the total
value of the investment is $840. What is the rate of simple interest? (Express your answer as a percentage
rounded to two decimal places.)

P=*150 As P(eet)
A=¥guo t
Y= - <§%%—1)
' 3
= Ov()"{

= lLt.ao%S [4]
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Question 3:

(a) $10,000 is split between two investments: one pays 3% simple interest and the second pays 5% simple
interest. After two years the investments have earned $840 interest in total. How much was originally
invested at the 3% rate? (Round your answer to the nearest dollar.)

[ X = avn punt ;mu-&SWLeJQ{- 2%
2 oo - X = owounk™ (npested & 5%,

+=2 bt .
U@mﬂa T =Pt
bc)(003) (2) + (10000~ x) (0,05 ) (2) = F4O
(©.06) x = oo — (0-1) % = P40
(- 00)x = — 6o
X = Yooo

2, ﬁtzmo@ Lol Cnoefleal o= 39, j

[5]

(b) Mary and Janet run a race. Mary runs at 14 km/h while Janet runs at 10 km/h. If they start at the same
time, how long will it take them to be 1 km apart? (Round your answer to one decimal place.)

[A T b T w?w»ea( Aime (e locers,
(/CSt‘v? o(r—v-‘t, in Tt s

M,..% vems 14 K

Jawt vuus 1ot Jum,

So (4t 1ot = |

Ht =
-tCTfL (av.

( H’%‘“’é b ﬂgguf/('éc //&Mapd:}

[

[5]
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Question 4:

(a) Solve for x:
—3x* +4x = =2

37<2'"(>< -2 o
Q33 =y =L
e b EpI-qac T
pR-N
=) E ENTHa) )

2D
= YKo
A
y4 2Jto
- [
zijto .
3

—
P

[51]

(b) A picture is of size 10 inches by 12 inches and we wish to put a border around the outside. The border will
have an area of 48 square inches and have the same width on all four sides. Determine the width of the

border. Ld_ 7(.-. (,J\‘o(/'ﬂ\ % L '
AT F e ot (Lo +ax(12¢2x) = UoY(12) = Y&
| (20 + 24x +20x{x T =122 =4§¢
Hxt44Ux —4¢ =o
(- H(X+ix = (2) =o
\LALX
| q(x-1) {x+1) =o
\ \0 ) oaa ,><_,:" ) -~ ‘

d’ l I t—- SU"(C(, %>/'O|

e (OWM fkgwqo( Q&, [ [Mu(»\ W\;DQJ
N—

[5]
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Question 5:

(a) Solve for x:

(m):@—m)
x€1 = | - a]3vxF + 3xtF
AX+6 = 2 37,
;(m) m‘ E

SRS
(Xfﬁ) = IxtF OV\ba, solufo~
K oxtq = Ix+F
7(L+2)< +)L =O
(x+t2) (X)) =0

X="2 . 9
Check! x==! ? ‘ = Frr= |-\ Y
{ O KRR [ £ - V3e) e x="1 1+ > l 3CQ)+F
O = o v | = - X [5]
(b) Solve for x:

2x+1+§_ = '% X# 2, X+ o

— 2x
% (x-2) [Z?H" ] [ J x(x-2)
L x (=2)
K@xt) +(e-DB) = —6
2+ X +,3x7( = “/6/
aS woled abpe 17((7(-(-)\) - 0O

Cﬁ\eoKl xX=2: 2 (2) +! LS _l_ =
2z L 1) =2(2)

0 _ 7 *

- [5]
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